
NP-120  1 P.T.O.  

Seat No. :  _______________ 
  

NP-120 
December-2015 

B.A., Sem.-I 

CC-101 : Economics 

(Elementary Economics) 
 

Time :  3 Hours]  [Max. Marks : 70 

1. …¬ÛÙÉÛÛÍªÛ …é¤øÅÛé ÉÛä× ? …éïõ¾ÛÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ …¶Ûé ÍÛ¾Û•ÛóÅÛ“Ûà …¬ÛÙÉÛÛÍªÛ ÍÛ¾Û›ÛÈÛÛé. 14 

                                     …¬ÛÈÛÛ 

 (A) …¬ÛÙÉÛÛÍªÛ¶Ûà ¾ÛÛÉÛÙÅÛ¶Ûà ïõÅýÛÛ¨ÛÅÛ“Ûà ÈýÛÛ”ýÛÛ ˜Û˜ÛÛë.  

 (B) ‘©ÛäÜÌ¤ø•Ûä̈ Û’ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  

2. ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ ¾ÛÛ¸ÛÈÛÛ¶Ûà ïõÛé̂ ¸Û¨Û ¼Ûé ¸Û±ùÜ©Û…Ûé ˜Û˜ÛÛë. 14 
       …¬ÛÈÛÛ 
 (A) ¾ÛÛ×•Û¶ÛÛé Ü¶ÛýÛ¾Û ÍÛ¾Û›ÛÈÛÛé. 
 (B) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ÍÛ¾Û›ÛÈÛÛé. 
 

3. ¼Û›ÛÁõ ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ ³ùÛÁõÛ ÍÛ¾Û©ÛäÜÅÛ©Û Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 14 
      …¬ÛÈÛÛ 

 (A) ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ÜÈÛÍ©ÛÁõ¨Û-ÍÛ×ïõÛé̃ Û¶Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ÈÛµÛÛÁõÛé-–Û¤øÛ¦øÛé …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ›÷¨ÛÛÈÛÛé.  
 (B) ¸ÛäÁõÈÛ¥øÛ¶ÛÛ Ü¶ÛýÛ¾Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
 

4. Ü¶ÛýÛÛé›÷ïõ¶ÛÛé …¬ÛÙ …¶Ûé ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 
   …¬ÛÈÛÛ 

 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : 
 (A) ›÷¾Ûà¶Û¶ÛÛ× ÅÛ“Û¨ÛÛé 
 (B) ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û 
 

5. ¶Ûà˜Ûé¶ÛÛ ¸Ûó©ýÛéïõ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ÍÛÛíé¬Ûà ”ÛÁõÛé …¶Ûé …ÛþùÉÛÙ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõà¶Ûé ÅÛ”ÛÛé : 14 

 (¼ÛÐäüÈÛíéïõÜÅ¸Ûïõ ¸ÛÍÛ×þù•Ûà¶ÛÛ ¸ÛóÊ¶ÛÛé - ¸Ûó©ýÛéïõ¶ÛÛé 1 •Ûä̈ Û) 
 (1) ïõÛé¶ÛÛ ¾Û©Ûé …¬ÛÙÉÛÛÍªÛ …™ö©Û¶Ûä× ÜÈÛßÛÛ¶Û ™öé ? 

  (a) ¸ÛóÛé. ÁõÛéÜ¼Û¶ÍÛ (b) …é¦ø¾Û ÜÍ¾Û¬Û 
  (c) ¾ÛÛÉÛÙÅÛ (d) Š¸ÛÁõ¶ÛÛ ïõÛé̂  › ¶ÛÜÐü 
 

 (2) ïõýÛÛ …¬ÛÙÉÛÛÍªÛà¶ÛÛ ¾Û©Ûé …¬ÛÙÉÛÛÍªÛ ÍÛ×̧ ÛÜ«Û¶Ûä× ÜÈÛßÛÛ¶Û ™öé ? 

  (a) ¸ÛóÛé. ÁõÛéÜ¼Û¶ÍÛ (b) …é¦ø¾Û ÜÍ¾Û¬Û 
  (c) ¾ÛÛÉÛÙÅÛ (d) Š¸ÛÁõ¶ÛÛ ïõÛé̂  ›÷ ¶ÛÜÐü 
 

 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× …™ö©Û¶Ûä× ïõÛÁõ¨Û ¶Û¬Ûà ? 

  (a) ›÷ÄõÜÁõýÛÛ©ÛÛé¶Ûà ÜÈÛÜÈÛµÛ …•Û©ýÛ©ÛÛ (b) ¾ÛýÛÛÙÜþù©Û ÍÛÛµÛ¶ÛÛé 
  (c) ¾ÛýÛÛÙÜþù©Û ›÷ÄõÜÁõýÛÛ©ÛÛé (d) ÍÛÛµÛ¶ÛÛé¶ÛÛé ÈÛíéïõÜÅ¸Ûïõ Š¸ÛýÛÛé•Û 
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 (4) ›Ûé Ýïõ¾Û©Û¾ÛÛ× 10 ¤øïõÛ –Û¤øÛ¦øÛé ¬ÛÛýÛ …¶Ûé ©Ûé¶Ûé ÅÛàµÛé ¾ÛÛ×•Û¾ÛÛ× 10 ¤øïõÛ ÈÛµÛÛÁõÛé ¬ÛÛýÛ, ©ÛÛé ¾ÛÛ×•Û¶Ûà 
¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ (Ed) = ____?  

  (a) ÍÛ×̧ Ûæ̈ ÛÙ ¾ÛæÅýÛ …¶Û¸Ûé“Û ¾ÛÛ×•Û (Ed = 0) (b) …éïõ¾Û ¾ÛæÅýÛÍÛÛ¸Ûé“Û ¾ÛÛ×•Û (Ed = 1) 

  (c) ÍÛ×̧ Ûæ̈ ÛÙ ¾ÛæÅýÛÍÛÛ¸Ûé“Û ¾ÛÛ×•Û (Ed = ∞) (d) ¾ÛæÅýÛÍÛÛ¸Ûé“Û ¾ÛÛ×•Û (Ed > 1) 
 

 (5) ¾ÛÛ×•Û Áéõ”ÛÛ¶ÛÛé §øÛÇ 

  (a) µÛ¶Û (b) Þô¨Û 
  (c) ÉÛæ¶ýÛ (d) …¶Û×©Û 
 

 (6) ¾ÛÛ×•Û¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶Ûä× ÍÛæªÛ – 

  (a) ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ × Ýïõ¾Û©Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ 
  (b) ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ – Ýïõ¾Û©Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ 
  (c) Ýïõ¾Û©Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ ÷ ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ 
  (d) ¾ÛÛ×•Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ ÷  Ýïõ¾Û©Û¾ÛÛ× ¬Û©ÛÛé ¤øïõÛÈÛÛÁõà ºéõÁõºõÛÁõ 
 

 (7) ¼Û›ÛÁõ ÍÛ¾Û©ÛäÅÛÛ¾ÛÛ× ¾ÛÛ×•Û ÈÛµÛé …¶Ûé ¸ÛäÁõÈÛ¥øÛé ÜÍ¬ÛÁõ ÁõÐéü ©ÛÛé Ýïõ¾Û©Û ¸ÛÁõ ÉÛä× …ÍÛÁõ ¬ÛÉÛé ? 

  (a) ÈÛµÛé (b) …˜ÛÇ 

  (c) –Û¤éø (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (8) ¸ÛäÁõÈÛ¥øÛ¾ÛÛ× ÜÈÛÍ©ÛÁõ¨Û-ÍÛ×ïõÛé̃ Û¶Û¶Ûä× ïõÛÁõ¨Û 
  (a) ¤éøî¶ÛÛéÅÛÛéœ÷ (b) ïõÁõÈÛéÁõÛ 
  (c) Ýïõ¾Û©Û (d) ÍÛ¼ÛÍÛà¦øà 
 

 (9) ¸ÛäÁõÈÛ¥øÛ Áéõ”ÛÛ¶ÛÛé §øÛÇ 

  (a) µÛ¶Û (b) Þô¨Û 
  (c) ÉÛæ¶ýÛ (d) …¶Û×©Û 
 

 (10) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× Š©¸ÛÛþù¶Û¶Ûä× ÍÛÛµÛ¶Û ÜÍ¬ÛÁõ ¸ÛäÁõÈÛ¥øÛ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ µÛÁõÛÈÛé ™öé ? 

  (a) ›÷¾Ûà¶Û (b) ËÛ¾Û 
  (c) ¾Ûæ¦øà (d) Ü¶ÛýÛÛé›÷ïõ 
 

 (11) ”Ûé¦æø©Û, þùÁõœ÷ …¶Ûé ÍÛä¬ÛÛÁõ¶Ûä× ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û 
  (a) ¸ÛóÛþéùÜÉÛïõ ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û (b) ÍÛÛþä×ù ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û 
  (c) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ËÛ¾Û ÜÈÛ½ÛÛ›÷¶Û (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (12) Š©¸ÛÛþù¶Û¶ÛÛ× ÍÛÛµÛ¶ÛÛé ïéõ¤øÅÛÛ× ™öé ? 

  (a) …éïõ (b) ¼Ûé 
  (c) ªÛ¨Û (d) ˜ÛÛÁõ 
 

 (13) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïˆ ¼Ûé ÈÛÍ©Ûä…Ûé …ÈÛéœ÷ ™öé ? 

  (a) ˜ÛÛ …¶Ûé ïõÛéºõà (b) ¦øÛ¼ÛÛ ¸Û•Û¶Ûä× ¼Ûæ¤ø …¶Ûé ›÷¾Û¨ÛÛ ¸Û•Û¶Ûä× ¼Ûæ¤ø 
  (c) ¸Ûé¤ÖøÛéÅÛ …¶Ûé ïõÛÁõ (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 
 

 (14) ©ÛäÜÌ¤ø•Ûä̈ Û …é¤øÅÛé – 

  (a) ÍÛ×©ÛÛéÌÛ (b) …Û¶Û×þù 
  (c) ÍÛÛÁõÛ¸Û¨Ûä× (d) Š¸ÛÁõ¶Ûä× ïõÉÛä× ›÷ ¶ÛÜÐü 

_________  
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1. What is Economics ? Explain Micro Economics and Macro Economics. 14 

     OR 
 (A) Discuss Marshall’s definition of Welfare Economics. 

 (B) Write short note on ‘Utility’. 

 

2. Discuss any two methods of calculation about Elasticity of demand. 14 

      OR 

 (A) Explain the Law of demand. 

 (B) Explain factors affecting elasticity of demand. 

 

3. Explain the process of equilibrium of price determination by market demand and 

supply, with the help of figure. 14 

     OR 

 (A) State the expansion and contraction of supply and increase and decrease in supply 

with the help of figure. 

 (B) Write short note on Law of supply.  

 

4. Explain meaning and characteristics of Entrepreneur.  14 

     OR 

 Write short note : 

 (A) Characteristics of Land. 

 (B) Division of Labour 

 

5. Choose the most correct and ideal answer from the each of the following questions : 

 (Multiple Choice Question – Each question carries 1 mark). 14 

 (1) According to whom Economics is a Science of Scarcity ? 

  (a) Prof. Robbins (b) Adam Smith 

  (c) Marshall (d) None of the above 
 

 (2) According to which Economist the Economics is a science of wealth ? 

  (a) Prof. Robbins (b) Adam Smith 

  (c) Marshall (d) None of the above 

 

 (3) Which is not the reason for scarcity from the following ? 

  (a) Various importance of needs (b) Limited resources 

  (c) Limited needs (d) Alternative use of resources 
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 (4) If price fall 10 percent and due to that demand increase 10 percent, then Elasticity 

of demand (Ed) = __?__  

  (a) Perfectly inelastic demand (Ed = 0) (b) Unit Elastic demand (Ed = 1) 

  (c) Perfectly Elastic demand (Ed = ∞) (d) Elastic demand (Ed > 1) 
 

 (5) The slope of demand curve is  

  (a) Positive (b) Negative 

  (c) Zero  (d) Infinite 
 

 (6) The formula of Elasticity of demand is 

  (a) Percentage change in demand × Percentage change in price. 

  (b) Percentage change in demand – Percentage change in price. 

  (c) Percentage change in price ÷ Percentage change in demand. 

  (d) Percentage change in demand ÷ Percentage change in price. 
 

 (7) What will be effect on price in market equilibrium if demand increases and supply 

remains constant ? 

  (a) Increase         (b)    Constant  

  (c) Decrease (d) None of the above 
 

 (8) The reason for expansion and contraction of supply is 

  (a) Technology (b) Tax 

  (c) Price  (d) Subsidy 
 

 (9) The slope of supply curve is 

  (a) Positive (b) Negative 

  (c) Zero  (d) Infinite 
 

 (10) Which of the following factor of production has a characteristic of Fixed Supply ? 

  (a) Land  (b) Labour 

  (c) Capital (d) Entrepreneur  
 

 (11) Farmer, Tailor and Carpenter’s division of labour is 

  (a) Regional division of labour (b) Simple division of labour 

  (c) International division of labour (d) None of the above 
 

 (12) How many factors of production ? 

  (a) One  (b) Two 

  (c) Three  (d) Four 
 

 (13) Which of the following two commodities are substitute ? 

  (a) Tea and Coffee 

  (b) The shoe of left leg and the shoe of right leg 

  (c) Petrol and Car 

  (d) None of the above 
 

 (14) Utility means 

  (a) Satisfaction (b) Enjoyment 

  (c) Goodness (d) None of the above 

_________ 

 


